


I & & Al MR O BHi #1E | E
BEELT =% 1
fEHEI T AR EI T m3 228.7
ERLAET g m3 2214
BEK#EEY T =® 1
E¥LTT R1E m3 744
HE B<1.0m m3 735
HEEIE m2 107.1
fliET B A B2 AIEG ET ) (B300%H300 m 203.7
B300*H400 m 24
HEaLH)— 18-8-40 m3 3.1
avy—r&E
flE= FC9-B2-B300 " 84
JL—FoE
FG9-A1-B300 54 20
TR T B A B2 AIEGEET ) (B300%H500 m 6.0
B300*H900 m 3.9
B300*H1100 m 1.8
EEaLH)— 18-8-40 m3 05
BIiRE
flE= FH9-B2-B300 " 6
Skt T F15EKHT B800-L-800-H900 = 1
F2E LK B800-L-800-H1100 9 1
AT = 1
#ZaL SHEEERIAOVY HB-FZ4EER) m 3.0
HB-F(3" Y DI+ER) m 0.6
HB-M3 (1 B 258 &B) m 9.6
HET = 1
TAITIVMNEREE T
(RIGEEED) EENF B BERFA(RC-40) t=13cm m2 279.3
TERET BERAERC-40) t=27cm m2 284.4




RETH=E

N

T f& & Al Al HO% ==X (v = | E

LRERET HFIEARA(M-40) t=15cm m2 2844
=ET OB A ZHIEAs(20F) t=5cm | m2 2844

TAITIVMNEREE T
(E—HEER) EENF B BERFARC-40) t=15cm m2 21.0
REET Y52 A (C-40) t=10cm m2 21.0
=ET @B EMAIEAS13F) t=3cm | m2 21.0

FAITIVMNEREE T
(ET:E1E1R) LRERET FIEARAE(M-40) t=12cm m2 6.1

BT &1 - te iR

- FEEENS =BT QB A FHIEAS(13) t=4cm | m2 6.1
=BT OB A FHIEAS13F) t=3cm | m2 6.1

FAITIVMNEREE T
(ET:E1E1R) EENF B B4AEBARC-40) t=13cm m2 5.1
EFEERNI18ER |TERET B4AERARC-40) t=27cm m2 5.1
LRERET HFIEARH(M-40) t=15cm m2 5.1
=ET OB A FHIEAS(20F) t=5cm | m2 5.1
XE#HFT = 1
XE#HRT RAVPKRE SR SMNMAIFR(BE) 15cm m 15.6
Bt XER FybSA4Y BHHR(BER) 15cm | m 6.5
BEYEET =® 1
EiEYEELT W) -MEEYBIEL |#FHaroU—k m3 29
|EAFO D) —k m3 0.9
A4 hR U B FRAI7)LREEE t=15cmlL T | m 30.8
A0 IR AR AR FRXAI7 )L t=15cmBL T | m3 2.0
Beakigsimiti e T kS Tk X Z{AEFE300%300 N 50
EH4aEa{a#300%800 - 86
M2E! _m. S+
OB T $kEav ) —k t 7.2
|V )—k t 2.2
T AI7ILEEE t 46




REHMER

e

T & & Al MR iR ==X v] = | E
T R 1
TUR—ILEAET |18 h—IL & 1.0




TR EHAEE



(L&)

8 s T T
(78 81 CH81)
1. T T

2. BERIWET MR IR




T fE:EKtEL
oA EE T - AT

EK T AEER

Al ks - ~HE BT ¥ = g B
[#EHEI ]
HE Ak 1] m3 228.7
[# 2R 1)
7B m3 221. 4




T - R LA T B
AR B B 20 B &=
el HRGHEE LY 228.7 228.7 m3
Y >y B 228.7 - 7.3 221. 4 221.4 m3

RS TSI D ANy e R




+ M O B OE
CA1  F&tltiE I
R BB womo | F W | o | oW om | P % | s
(m) (m2) (m2) (m3) (m2) (m2) (m3)
BP_(NO. 0) 0. 000 4.8
NO. 0+3.51 3.514 2.1 3.45 12. 1
NO. 1 16. 486 2.3 2. 20 36. 3
NO. 2 20. 000 1.9 2.10 42. 0
NO. 3 20. 000 1.9 1. 90 38.0
NO. 4 20. 000 2.1 2. 00 40. 0
NO. 5 20. 000 2.0 2.05 41. 0
EP_(NO. 5+6. 00) 6. 036 4. 4 3.20 19. 3
& EF 106. 036 228.7




(L&)

HEK#SaEm LT
(78 B C#3)
1. fEgrT R
25
REETE
o AT e BRI (17D

3. fEWTEEKT

4.  SkwT

BEIVDU— R
BIEE

BHLEC(RE (HERTR)
HEIVDU—k
EE

F1SEKMT
F2SEKM T




T HE PekdE T

E¥EL T R

o EELET
G Bikg - ik HLAZ & g =
[WE¥ELT]
PR, m3 74. 4
PR m3 73.5
AL R m2 107. 1




B+ T #HEE
MR FRAE B £V ¥ B
R
+THEHEELY 62.9
EAREE-V/ S/ 5.3
W2 AT 6. 2
it 74. 4 74.4 m3
R
+REEELY 62.9
1AM T 6. 2
o AN T 4.4
7 73.5 73.5 m3
FEE ST
+HREEELY 104. 3
1AM T 1.4
o AN T 1.4
3 107. 1 107.1 m2
Tt V= 74.4 - 73.5/0.9 -7.3 —  m

MR IIAHE LV HiEH,




== = Febs
+ G £
CA2 R
Wil J= S b o R - v . =
(m) (m2) (m2) (mS) (m2) (m2) (mg)
BP (NO. 0) 0. 000 0.0
NO. 0+3.51 3.514 0.6 0.30 1.1
NO. 1 16. 486 0.6 0. 60 9.9
NO. 2 20. 000 0.6 0. 60 12.0
NO. 3 20. 000 0.6 0. 60 12.0
NO. 4 20. 000 0.6 0. 60 12.0
NO. 5 20. 000 0.6 0. 60 12.0
EP (NO. 5+6. 00) 6. 036 0.7 0. 65 3.9
& El 106. 036 62.9




== = Febs
+ fE G =<
RA HE
T = PR W Ty SR T _— v
(m) (m2) (m2) (mS) (m2) (m2) (mg)
BP (NO. 0) 0. 000 0.0
NO. 0+3.51 3.514 0.6 0. 30 1.1
NO. 1 16. 486 0.6 0. 60 9.9
NO. 2 20. 000 0.6 0. 60 12.0
NO. 3 20. 000 0.6 0. 60 12.0
NO. 4 20. 000 0.6 0. 60 12.0
NO. 5 20. 000 0.6 0. 60 12.0
EP (NO. 5+6. 00) 6. 036 0.7 0. 65 3.9
& El 106. 036 62.9




= = A

[T = =
L Jim#&iE
IS} s E X By i $e3 NI ) i
(m) (m) (m) (m2) (m) (m) (m2)
BP_(NO..0) 0. 000 0.0

NO.. 0+3.51 3.514 1.0 0. 50 1.8
NO. 1 16. 486 1.0 1. 00 16.5
NO. 2 20. 000 1.0 1. 00 20.0
NO. 3 20. 000 1.0 1. 00 20.0
NO. 4 20. 000 1.0 1. 00 20.0
NO. 5 20. 000 1.0 1. 00 20.0
EP. (NO. 5+6..00) 6..036 1.0 1. 00 6.0
& &t 106. 036 104.3




kS T B R
T & Pk T
OB AT
B ks - ~HE AL ¥ = W O
[T ]
B 2 B GREwT A B300-H300 m 203. 7
B300-H400 m 2.4
a7 — @ 18-8-40 m3 3.1
a2y 7 Y —bhE
A= ’ FC9-B2-B300 5 84 L=1. 0m/#&
TV—F T
’ FG9-A1-B300 ¥ 20 L=1. Om/#&




¥ T EERE
B B A B Gihelr FE) &= T
X B %
B300-H300 | B300-H400 FC9-B2-B300 FG9-A1-B300
=M
NO. 0+3.54 ~ NO. 5+5. 78 103. 17 42 10
A1l
NO. 0+3. 41 ~ NO. 5+3. 94 100. 52 41 10
NO. 5+3. 94 ~ NO. 5+5. 62 2.40 1
m m g5 "
B 203. 69 2.40 84 20




a7 ) — K 1203472 0 AL E
X Al i B E2V B &=
AR ) -} 2/7)-b@ 313 m’
=
NO. 0+3. 54~NO. 5+5. 78 0.05X0.30X103. 17 = 1.548
Al
NO. 0+3. 41~NO. 5+3. 94 0. 05X0. 30X100. 52 = 1.508

NO. 5+3. 94~NO. 5+5. 62

(0. 065+0. 150) /2 0. 30X 2.

0.077




B AR GREWr ) B300-H300  10m 4 7- v HfT &
X 45 S| it H =y &
B300-H300
B B AR 306kg/{H 10. 00+2. 00 5. 000 5.00 &
L=2m/1{#&
sy ) -} 2))-b@ Bligat —  m?®
— VNG )
ety -} ¢ =50mn 0. 50 10. 00X 0. 05 0.250 | 0.25 m?
FAERA A= 0.50X10.00 5. 000 5.00 m?2
prey e (Fx KR 40mm)
t=100mm V = 0.50%10.00X0. 10 0.500 | 0.50 m?




H AR (REr ) - B300-H400

10m ¥4 7= 0 BN &

X 45 A Bl it H =y &
B300-H400
B B AR 374kg/ M 10. 00+2. 00 5. 000 5.00 &
L=2m/1{#&
sy ) -} 2))-h@ Bligat —  m?®
. ‘
HepEa ) -} :ZZ;}OIL? 0. 51 10. 00X 0. 05 0.255 | 0.26 m?
ARG A= 0.51X%X10.00 5.100 5.10 m?2
prey v (Fx KR 40mm)
t=100mm V = 0.51X10.00%0. 10 0.510 | 0.51 m?




T fE Pk T
i Bl AR K T

BEMTHEAK L 4R5HR

B ks - ~HE AL ¥ = W O
[ R0 BEAK T]
B 2 Bl CRE T A B300-H500 m 6.0
B300-H900 m 3.9
B300-H1000 m 1.8
a7 ) — @ 18-8-40 m3 0.5
Al 72 LhRA  FC9-B-B300 # 6 L=1. Om/#%




MERTHE K L ERHE

B B A B (BRI ) = T
X B %
B300—-H500 B300—-H900 B300-H1000 | FH9-B-B300
AR
NO. 0+3. 25 6. 00 3
& SR
NO. 5+6. 29 3.85 1. 80 3
m m "
B 6. 00 3.85 1.80 6




a7 ) — b

10 72 0 B

X

Ml

i B E2V

e

FEEESVVURN

/) -h@

0. 46

R
NO. 0+3. 25 0. 139X 0. 30X 6. 00 = 0.250

He R
NO. 5+6. 29 (0. 211+0. 05) /2 0. 30X 3. 85 = 0.151
(0. 15+0. 075) /2 0.30X 1.8 = 0.061




H AR ) B300-H500  10m X4 7= ¥ B 8
X 45 S| it H =y &
B300-H900
B B AR 570kg/{H 10. 00+2. 00 5. 000 5.00 &
L=2m/1{#&
sy ) -} 2))-b@ Bligat —  m?®
— VNG )
ety -} =100m 0.57>10.00X0. 10 0.570 | 0.57 m?
FAERA A= 0.57X10.00 5. 700 5.70 m?2
prey e (Fx KR 40mm)
t=100mm V = 0.57X%10.00%0. 10 0.570 | 0.57 m?




H AR ) B300-H900  10m 47~ v L7 8 &
X 45 S| it B =y &
B300-H900
ENEERS LR R 1030kg/{H 10. 00+2. 00 5. 000 5.00 &
L=2m/1{#&
sy ) -} 2))-b@ Bligat —  m?®
— VNG )
ety -} =100m 0. 60 10. 000. 10 0.600 | 0.60 m?
FAERA A= 0.60X10.00 6. 000 6.00 m?2
prey e (Fx KR 40mm)
t=100mm V = 0.60X10.00%0. 10 0.600 | 0.60 m?




B AR (BT ) - B300-H1000

10m47- YV BN &

X 45 S| it H =y &
B300-H1000
ENEERS LR R 1120kg/{H 10. 00+2. 00 5. 000 5.00 &
L=2m/{&
sy ) -} 2))-b@ Bligat — w3
ko VAR )
ety -} =100m 0. 60 10. 000. 10 0.600 | 0.60 m?
A A = 0.60X10.00 6. 000 6.00 m?
prey e (Fx KR 40mm)
t=100mm V = 0.60X10.00%0. 10 0.600 | 0.60 m?




T fE PekE T
R AR

KM 4R

Mmoo R - s AL ¥ B W o=
[T
1K T B800-1.800-H900 H 1
oK T B800-1.800-H1100 H 1




1 ST B800-L.800-HI00

13472 Y AR

T mE 8 &= X
w2 ,
B4 B3(L3)
=0 B2, B1(L1) B2
B2, B1 B2 Lo o] ME
’ i ‘ I
5 N -
. . i = ‘.v— o
& E a8
A 3] T meems : & | B 2 EEN
B I S avsy—t
> | ~_ | .7 18-8-40
: o |
; T ‘ ‘gwa
; | Ba L4 | B2mE BAmE40m
W1 |
I 1
B1=[ 0.80 L1= 0.80 Hi=[ 0.90 Wi= 2.100
B2=[ 0.15 L2= 0.15 H2=| o0.15 W2=2.100
B3= 1.10 L3= 1.10 h= 1.20
B4= 1.20 L4= 1.20
X Ll 2l 7 B = g H
29—} 18-8-40 1.10 X 1.10 1.05 0.80 X 0.80 X 0.90 = 0.695 | 0.70 m?
Tl e 1.10 X 1.05 4 0.80 X 1.05 X 4 = 7980 | 7.98 m?2
AN _ _ 2
£=200mm = 1.20 1.20 X 0.15 = 0216 | 0.22 m?
Wik VA VYA 1 ®
JEHA A 0 VN
(= R ( 2.10 X 2.10 2.10 210 )= 2 X 1.20) = 523 — m?
s 5.300 - 1.10 1.10 1.05 - 1.20 X 1.20 X 0.15 = 3.8 — m?
V5w U 5.300 - 3.800 — 15 R
S IE 1.20 X 1.20 — 14 I




i o-A-AE Kt T, B8OO-1.800-H1100

13472 Y AR

& ) & (&
w2 ,
B4 B3(L3)
B3 B2 B1(L1) B2
B2, B1 B2 Lo 2] HE
5 { y = ;
& 5 T esen ¥
][] I B 8 | R 1o | R o ! ﬂ,‘ =0
B i e
of | B | 7 18—8-40
; o |
] T EHH
; . Bas) | BERE BAHELOm
W1 |
Bl=| 0.80 Li= 0.80 Hi=| 1.10 Wi=  2.200
B2=| 0.20 L2=  0.20 Ho=| 0.20 Wo= 2.200
B3= 1.20 L3= 1.20 h=  1.45
B4= 1.30 L4= 1.30
X Ll Bl 7 =1 = % iy
2y -} 18-8-40 1.20 X 1.20 1.25 0.80 X 0.80 X 1.10 = 1.096 | 1.10 m?
T o 1.20 X 1.25 4 0.80 X 1.25 X 4 = 10.000 | 10.00 m 2
HARA _ _ 5
b | ok EAOm = 1.30 1.30 = 1.690 | 1.69 m
£=200mm = 1.30 1.30 X 0.20 = 0338 | 0.34 m?
Wik VA VYA 1 ®
Jrkz: N A=A 2 A
(= R ( 2.20 X 2.20 2.20 220 )+ 2 X 1.45) = 7.0 — m?
fiiihey 7.000 - 1.20 120 X 1.25 - 1.30 X 1.30 X 0.20 = 4.9 — m?
7% e 7.000 — 4.900 — 91 — d
S IE 1.30 X 1.30 - 17 I




(L&)

& b T

Q) C#B BUD

= Imu SEERER JOvD




txa L HREHER

T F:f&aL
OB BeL
B ks - ~HE BT ¥ = W O
[BEaT]
BEGERER T O v T HB-F (= UEE) m 3.0
HB-F (-4~ ¥ DI #K) m 0.6

HB-M3 (R A~ 1E ) m 9.6




AR HLIE BT A S A

HHEET 0 v 7 (n)

% T HB-F HB-F HB-M3 =
(BRHERR) GRURSIbR: Y (BT AE D)
(ZE Al
NO.O  ~  NO.03.11 4.80
)
NO.O  ~  NO.0+2.95 3.00 0. 60 4.80
i 3.00 0. 60 9. 60




SEHEERT (HB-F)

100m& =Y BuBE

X % oAl it g = %=
HEHBEER C3E (W mER) &gty
S w2 296ke /2. 00m TARITEZHELHARE LY 49.8 &
ELREIVHY-p 18-8-40 TARITEZHELHARE LY 6.1 m3d
Eilp o R 0.57x10.00x0.10 M m2
BERA A = 0.42x100.00 =  42.0 42  m2
HEwR (R K A2 40mm)
t=100mm V= 0.42x100.00%0.10 = 4.20 4.2 m3
{BfE B th t=10mm TARITEIZERREKY 0.6 m2




SEEFER T (HB-M3)

100ma =Y BluE

X % oAl it g = %=
HEHBEER T E S & S [
S w2 = TARITEZESLHRE LY 49.8 &
ELREIVHY-p 18-8-40 TARITEZHESLHARE LY 4.5 m3
Eilp o R TARITEZESHRE LY 30 m2
BERA A = 0.35x100.00 = 35.0 35 m2
HEwRa (R K A2 40mm)
£=100mm V= 0.35%100.00%0.10 = 3.50 3.5 m3
{BfE B th t=10mm TARITEIZERRELY 0.4 m2




(L&)

A \ :I:
g = T
(f881) (4881
1. PRI REET % FHEIE
(R igEELD) TEEET
rEEET
=ET
2. PRI REET 2 5IE
(i —ARED) PREeT
=ET
3. PRI REET rESET
@EEn) =BT
AEREET - IBIR - FANNIS =BT
4. PRIPILREET o IE
@EEn) TE®ET
BIEEAEN 18218 rESET

xRETL




T fE o ffdET

GHE =S

OB 7 AT 7 b M ORFBREDETR)

G Bikg - ik HLAZ & g =
[ AR HLE ]
O 4l FAEREE (RC-40), t=13cm m2 279.3
TR T FAREG (RC-40), t=27cm m2 284. 4
LA T brgfEAa (M-40), t=15cm m2 284. 4
KET OB RIEAS (20F), t=5cm m2 284. 4




EE EREE
HMBIL KA B =« ¥ B
RPN
AR (RC-40) MEEmETTEE LY = 279. 30 279.3 m2
t=13cm
TR T
AR (RC-40) MEEmETTEE LY 284. 40 284.4 m2
t=27cm
LERET
BraRE (M-40) HEmETEZ LY 284. 40 284.4 m2
t=15cm
FEL
OF/EmREAs 20F) | HEEBHEE LY = 284. 40
t=5cm

284.4 m2




O @ A

iH R

B IS B AR (RC-40)
A R BE B k< YRS ® 1R’ K & RS [T
(m) (m) (m) (m2) (m) (m) (m2)
NO. 0 0.000
NO. 0+3.03 3.030 R EREKY 13.6
NO. 0+3.48 0.000 2.55
NO. 1 16.520 2.55 2.55 42.1
NO. 2 20.000 2.55 2.55 51.0
NO. 3 20.000 2.55 2.55 51.0
NO. 4 20.000 2.55 2.55 51.0
NO. 5 20.000 2.55 2.55 51.0
NO. 5+3.80 3.800 2.55 2.55 9.7
NO. 5+3.80 0.000
EP 2.200 || F2EtEMEEKILY 9.9
g 105.550 279.3




O @ A

iH R

LR T  MEARE (M-40)

TRBRETL BERARC-40)

A =R BE B k< YRS ® 1R’ K & RS [T
(m) (m) (m) (m2) (m) (m) (m2)
NO. 0 0.000
NO. 0+3.03 3.030 YN T ) 13.6 13.6
NO. 0+3.48 0.000 2.60 2.60
NO. 1 16.520 2.60 2.60 43.0 2.60 2.60 43.0
NO. 2 20.000 2.60 2.60 52.0 2.60 2.60 52.0
NO. 3 20.000 2.60 2.60 52.0 2.60 2.60 52.0
NO. 4 20.000 2.60 2.60 52.0 2.60 2.60 52.0
NO. 5 20.000 2.60 2.60 52.0 2.60 2.60 52.0
NO. 5+3.80 3.800 2.60 2.60 9.9 2.60 2.60 9.9
NO. 5+3.80 0.000
EP 2.200 || F2EtEMEEKILY 9.9 9.9
g 105.550 284.4 284.4




O @ A

iH R

KBTI OFREAs(20F)

A R BE B k< YRS ® 1R’ K & RS [T
(m) (m) (m) (m2) (m) (m) (m2)
NO. 0 0.000
NO. 0+3.03 3.030 R HERELY 13.6
NO. 0+3.48 0.000 2.60
NO. 1 16.520 2.60 2.60 43.0
NO. 2 20.000 2.60 2.60 52.0
NO. 3 20.000 2.60 2.60 52.0
NO. 4 20.000 2.60 2.60 52.0
NO. 5 20.000 2.60 2.60 52.0
NO. 5+3.80 3.800 2.60 2.60 9.9
NO. 5+3.80 0.000
EP 2.200 || F2EtEMEEKILY 9.9
g 105.550 284.4




T ff o EETT

BT SRRk

OB 7 AT 7L NAREET (BRE—RER)

Mmoo B JRAE - Tk BN = o B
[23E — %56 ]
R Pl FAEREA (RC-40), t=15cm m2 21.0
AT BAREA (C-20), t=10cm m2 21.0
KET D=7 BEAs (13F), t=3cm m2 21.0




A E
TR FAR N ¥ &
R Pl LSRRI &L 0
A (RC-40) 6.1 + 14.9 21.00 21.0 m2
t=15cm
AR T
WA R (C-20) L REREEAIE L 0
t=10cm 6.1 + 14.9 21.00 21.0 m2
g T
OFEMRIEAs (13F) | R AAERFEMI &L 0
t=3cm 6.1+ 14.9 21. 00

21.0 m2




AR T HEEHER
T ffET
B T AT 7L MEEE T (FTEER)
B Bikg - ~Hik BT & =
[HT3EE 1H]
WP TEARRT - eI - FERENAR
AR T bigREa (M-40), t=12cm m2 6. 1
XKE T QP AEEREAs (13), t=4cm m2 6.1
FIET O FAERIEAs 13F), t=3cm m2 6. 1
38 SRR PN 18-t
R A e B (RC-40), t=13cm m2 5.1
TEBAE T F/EfA (RC-40), t=27cm m2 5.1
LR T iR (M-40), t=15cm m2 5.1
XKE T ®FF AR EAs (20F), t=5cm m2 5.1




BT EE 1H

MBI Bk

%

el

WTSEREHT - RES - S

g AR T
WA (M-40)
t=12cm

=g L
O AEERIEAs (13)
t=4cm

#E T
G hEAs (13F)
t=3cm

WTIE AR 18 75
Rl e

BAMA (RC-40)
t=13cm

T A T

BAmA (RC-40)
t=27cm

g AR T
R (M-40)
t=15cm

KIET

G LR As (20F)
t=bcm

A

=}
| =3

ER

L RHEREEMI L

L AEBRERI 0

L RERRERIE L 0

2R HE R T L 0

F2 AW HE R T L 0

2R HE R T L 0

F2 R HE R T L 0

6.1 m2

6.1 m2

6.1 m2

5.1 m2

5.1 m2

5.1 m2

5.1 m2




(T )

X @& #R LT
T 5D AR
1. EBET KA RS

BRI ER




T fE o XERRL
OB KE#RL

RN S S

Mmoo R - s AL ¥ B W o=
[XHEi#E T ]
~A v FARXERR SMAER A > PR 15em m 15.6
T X R Ky b T4 v ¥EEEERR 30cm m 6.5




ENTEET 7 =

B AL
H A & i
SMARRE A v FRER L 5em
(211 6.5
L AU B U R
CAH1AD 9.1
L U U
gt 15. 6
HOAL : om
il J=t ¥ = 1
Ky 742 BREEEEER30cm
e ST U5 6.5

5]

6.5




(L)

MEEYIEAT

(& Rl C 48 50O

1. BEMENELT BEHI VD) — SESDEUE U
EHOYVD) — FEGEYIEUER U
ShEhRUDEA
S hR bR B2

S —FEREE SHEEBIRR T O SRS

4. RERWET kA I D) — L&k

H|EFHIDI VD) — FERERR
PRI 7)) SEE




T s T
FEOR AREYIBUE L T

S IR L T 2aTK

B Hikg - ~Hik FANL B & fii
o7 J— MEETUE L B 7 U — k m3 2.9
M7 ) — |k m3 0.9
B T KT T A7 7 )L M t=15emPL T m 30. 8
e 7 A7 7 )L M t=3cm~T7cm m3 2.0




BRAf 7)) - HE L TR

S

HMB1 B 8 = —
N MM WET VR LY
e s HTASE (m2) SER (w) (A (m3)
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